Volume of Cuboids Extension

1.
The cistern of a toilet is in the shape of a cuboid. The cistern measures 18 cm by 44 cm by 30 cm.
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The cistern fills with water so that it is three quarters full.

a)
Find the volume of the water in the cistern in cm3.

b)
If 1000 cm3 equals 1 litre. Write your answer to part a in litres.

A brick is put into the cistern so that it uses less water. The brick measures 21 cm by 5 cm by 10 cm

c)
Find the volume of the brick.

d)
How many litres of water are now needed to fill the cistern to the same level as before?

2.
Using a piece of paper exactly 18 cm by 24 cm.


Cut equal sized squares out of each corner. This will now leave you with a net of an open box.


What is the volume of the box you have made?

What is the biggest volume you can make?

24cm





18cm








